restart

Ecua == y"—=7-y'+ 12-y=0
2

d
Ecua = g y(x) =17 & y(x)+12y(x) =0

EcuaCarac i=m’ — T-m+ 12=0
EcuaCarac :=m> — Tm~+ 12=0

Para := solve(EcuaCarac)

Para :=4,3

w[l]:=exp(Para[l]x)
= RE

w[2] = exp(Para[2]-x)
W, = R

SolGral == y(x)=_Cl-yy[1]+ C2-yy[2]
SolGral == y(x)=_Cle'*+ C2¢"
SolFinal := dsolve(Ecua)
SolFinal = y(x) =c, &' + ¢, &"
with(linalg) :
WW := wronskian([yy[1], y[2]], x)

4x 3x
e e
WW =
4" 3¢ }
Comprobar = det(WW) #+ 0
Comprobar = —¢'*&* # 0

ComprobarDos = simplify(eval(subs(y(x) =rhs(SolGral), Ecua)))
ComprobarDos == 0 =0

CondIni = y(0) =6,D(y)(0) =—4
CondIni == y(0) =6,D(y)(0) =—4

SolGral
y(x)=c, & +c, &
CondUno = simplify(subs(x =0, rhs(SolGral) =6))
CondUno = ¢, + ¢,=6

CondDos = simplify(subs(x =0, rhs(diff (SolGral,x)) =—4))
CondDos == 4c,+3c,=—4

Para := solve([ CondUno, CondDos )
Para = {01 = =22, cz=28}

SolPart := subs(Para[l], Para[2], SolGral)
SolPart == y(x) = —22 et pog et

plot({rhs(SolPart), rhs(diff (SolPart, x)) },x=0..0.2)
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restart
Ecua = y"+2-y'+2-y=0
E i +2 d (x) +2y(x)=0 a7
cua == — y(x — =
w2 7% e y
EcuaCarac '=m" +2-m+2=0
EcuaCarac == m" +2m+2=0 (18)
Raiz := solve(EcuaCarac)
Raiz == —1+1L —1—1 19)
w[l]:= exp(Re(Raiz[1])x)- cos(Im(Razz[ 1) -x)

yy, = e " cos(x) (20)
w[2] = exp(Re(Raiz[1]) x)- sm(Im(Razz[l]) “X)
yy, ==¢  sin(x) (21)

SolGral == y(x)=_Cl-yy[1]+ C2-yy[2]

SolGral == y(x)=_Cl e " cos(x) + C2e " sin(x) (22)
with(linalg) :
WW = wronskian([yy[1], yv[2]], x)
e " cos(x) e " sin(x)
WW = (23)

—e "cos(x) —e “sin(x) —e sin(x) +e " cos(x)



Comprobar = simplify(det(WW) ) # 0
Comprobar ==e¢ ~~ #+ 0

ComprobarDos = simplify(eval(subs(y(x) =rhs(SolGral), Ecua)))
ComprobarDos == 0 =0

Condlni == y(0) =10, D(»)(0) =—10
CondIni := y(0) =10,D(y) (0) = —10

EcuaUno = simplify(subs(x =0, rhs(SolGral) =10))
EcuaUno = _CI=10

EcuaDos := simplify(subs(x =0, rhs(diff (SolGral, x) ) =—10))
EcuaDos == — Cl+ C2=-—10

—2x

Para = solve( [ EcuaUno, EcuaDos])
Para == {_CI1=10,_C2=0}

SolPart := subs(Para[ 1], Para[2], SolGral)
SolPart := y(x) =10 ¢ cos(x)

plot({rhs(SolPart), rhs(diff (SolPart, x)) },x=0..1)
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